
Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

Arithmetik der ganzen Exponenten

7 − 7 =2 9 − (−5) =

(−4) + (−6) =3 (−9) − 8 =3

(−10) + (−7) =3 (−2) − (−2) =2

2 − (−10) =3 7 − (−10) =3

3 + 10 = (−2) − 10 =2

(−5) + 6 =2 5 − (−7) =3

(−10) − (−6) = (−4) − 3 =2

(−3) − 1 = (−3) − (−1) =2

(−3) + 5 =3 (−2) − 10 =3

8 + 7 =2 6 − (−5) =3
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Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

Arithmetik der ganzen Exponenten

7 − 7 = 422 9 − (−5) = 14

(−4) + (−6) = (−70)3 (−9) − 8 = (−737)3

(−10) + (−7) = (−1007)3 (−2) − (−2) = 62

2 − (−10) = 183 7 − (−10) = 3533

3 + 10 = 13 (−2) − 10 = (−6)2

(−5) + 6 = 312 5 − (−7) = 1323

(−10) − (−6) = (−4) (−4) − 3 = 132

(−3) − 1 = (−4) (−3) − (−1) = 102

(−3) + 5 = (−22)3 (−2) − 10 = (−18)3

8 + 7 = 712 6 − (−5) = 2213
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